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1. Consumers are willing to buy 70 light bulbs at a price of 50 cents a piece and are willing to buy 30 light
bulbs for 70 cents each. What is the highest price consumers are willing to pay for a light bulb, assuming
a linear demand function?

2. Solve the equation forx:  10°**¥ =1n2

xt 7

3. Bvaluate lim> :

x> 6= 3x

4. Find the derivatives: y=-——
5. Find the derivatives: y=3-Inx—4log,x

6. Find the indefinite integral ff (¢ '*"1)7 dt

7. Find the indefinite integral L: (x2 - 1)(x3 ~3x +5)3 dx

8. A company has found that their revenue function, in thousands of dollars, is closely modeled by the
function R(x)=-0.05x*+10x-350 for 0<x<185 where x is the number of individual units sold. How
many units must the company sell to maximize their revenue?

9. For what values of x do the following power series converge? 2 ,n!x”

n=0

10. Find the absolute minimum value of f(x)=x** on the interval [-2, 3].
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